2
D 1561+7 @ 25
@ 484 +8 3)2.86+7

B

@ 1561 +7=223
2
@25:2+2+9:2+0.22.--:2.22---

® 55.35+ 5 = 11.07
@ 48.4 +8 = 6.05
® 2.86+7=0.408---




2.

+ FolA dolol &9 ¥AE vt=A vl 22 o=

@ 4.9a=490ha
(@)0.54 ha = 5400 m?

O 25km? = 2500a
® 6800000 m? = 680 a

® 370a = 3.7m?

B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a = 0.49ha

® 6800000 m? = 68000 a

® 370a = 37000 m?
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5. ofelel 43 g2 AL ol AA WAL,

é—*XO
O
OXAX% A Ox*
@T ®m ® OxA
AX % +0O Oxa
@
O X %




g0l e A4 et 44 ve 27 1AL w0 Lo,
AR Lce Lad gogUnh 474 e @5 449
DT ZFOAQ,
7}
U C
- = N\
® 474d e OFEL R
G)d74d Len @ 471 o
® A coso
(H1a)=MuLr=)=(H1LrD)
(Ztomz1)=(Z e2L)=(ZdncL)
(Zoaa)= (@ era)=(doLr)
whabd A7 nen, A7 Len,
A7V Lol gk ol Zo|g}
o Bl Az gonz Az FEdUt




